Adding decimals with a different number .I o Filip is adding two numbers together.
of decimal places 1 Hob
He writes it os a column addition.
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o Ron is adding 1.4 and 2.53
He makes each number with counters, a) What mistake has Filip mode?
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'. ‘ T “‘ 0‘ ‘ "“ b) Use the column method to work out the correct answer.
a} What is the arswer to Ron's alculation? 3"13
b) Exploin your method to o partner. @ h 3 5
¢ Did you hove to make on exchange? WO . l
15175
o Work out the odditiors. -
a) 4]
3402 248 o Use the column method to work out the additiors.
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RAE 612]5
1
21316 1 |L{1g|2
b d) 149 3.7
vats s{1|s L1316 1184519
[ A
+ L] 2 2 + 1 a g
V3133 110105
|




o Use the column method to work out the odditions.

o Here are four numbser cords.
a) 059 +11.9 c) 0.591+1.73
3.8 4.19 072 11.46
a) What is the greotest total you con maoke by odding two of
045 |9 o423 19 |1 the numbers?
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b) 77.34+ 1.82 dl 3.2 +1.84 + 092
b) What is the sum of the four numbers?
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a) 143+ 137 =3967 b) 485 + 1.5 = 1265
o Mr Hall drives from point A to point B, then on to point C.

103.6 o The total mass of the two boxes is 10.85 kg, @
B

What could the mass of eoch box be?  VOAoUL SrEes,
A

What is the total distance that Mr Hall drives? ——kg

How many answers can you find? @l
.
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